N
;
:
;
;
N
;
;

10 | 11 | 12

B-B(1:1) % ey
| .
1 B N
i -
. __——¢€lement 19 ' =
VA element26
e
Sy <<
|
¥ !
element 10 |
|
|
|
|
|
|
|
|
N =
| l; |
| |
| NN
| |
@ i H |
_ N i \
™
R\ | H
N | \
N | N
N | E element 10
129\ - ' N S
7 = | Pl
= | | =2 /4
| |
|
J | o
] | Supermagnet Q-19-13-06-N
n°16 dim. 19.1x12.7x6.4
|
) | added note 13-06-11
A-A(1:1) . N new version for position keystone | 07-06-11
| ref. note date
Note: The part 131 in mounting test is short 25 mm modifications
element 22 This list is included in the general list (draw. 0327)
253 0326 Helicoidal spring
@ Elenco parti 141 0314 Column of accelerometer
— ELEMENTO | QTA NUMERO PARTE DESCRIZIONE 140 0314 Suspport ri‘cc_e'ero";‘eter
10 8 ISO 4762 - M3 x 8 Viti con esagono 139 0314 up.po picomotor
incassato - Grado 138 0314 Adjustment lever
prodotto A 137 0313 Reteiner head wire
14 1 |SKF51106 Cuscinetti a sfere 136 | 0313 Reteiner head wire
reggispinta a direzione 135 eliminated Limiter nut
17 9 ISO 4035 - M8 Dado esagonale 133 0313 Stroke limiter
18 3 ISO 4032 - M8 Dado esagonale 132 0312 Keystone
19 3 |ISO 4762 - M8 x 35 Viti con esagono 131 0311 LVDT actuator
prodotto A 129 0310 Coil adjustment plate
22 1 ISO 4762 - M5 x 12 Viti con esagono 128 0310 Magnet yoke front
incassato - Grado 127 0310 Magnet y0ke baCk
prodotto A ref. draw. legend
26 2 ISO 4762 - M4 x 16 Vite con esagono q PROMEC R, De salvo
incassato E@ '.‘ di Gennaro Gianni JEsIen G. Gennaro
27 2 |UNI5933-M5x 16 Vite svasata DI A A o 1 1 11
29 4 ISO 4762 - M4 x 6 Vite con esagono - — :
incassato ° LCGT-SAS LCGT.0302-02
33 3 UNI 5933 - M8 x 20 Vite svasata CENTRAL GROUP-Gr.3 Sranne Al

2 I 3 I 4 I S I 6 ﬁ / I 8 I 9 I 10 I 11 I 12




